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v ot 7 o] 9F& +otH?
@9\/52;5\/6 @ 9@;5\/5
@ 5x/§g9\/6 5 —5w/§6+9x/6

©)

5v2 + 96
6

B

4+w/§+2—«/§

V2 V6

_(4+\/§)x\/5+(2—\/§)><\/€
V2 x V2 V6 x V6

4V2+ V6 2V6-3+2

G

_12v243V6+2V6-3V2
a 6

_9V2+5v6
===




3. a(y-3)+4(3-y) & JdsEalctH?

D -(y+3)(a+4) @ (y+3)(a+4)
® 4a(y-3) @ 0-3)a-4)
® (y-3)(a+4)

a(y—-3)+4@3-y) =aly-3)—4(-3+y)
=(y-3)(a-4)




O x2-3x-4=(x-1)(x+4)

@) -4x+3= (x-1)(x-3)

® x? - 8xy —20y? = (x - 2)(x + 10y)
@) + 130y + 222 = (x + 2)(x + 11)

® x* +5xy = 6y* = (x +y)(x — 6y)

@ (x+1)(x—4)
® (x+ 2y)(x—10y)
® (x—y)(x+ 6y)




5. 25x2-16y?> =9, bx +4y =9 W, 4y — 5x 9] Z& F51H?

@ -2 @—1 ® 0 @ 1 ® 2

~&B

25x% — 16y? =9, (5x + 4y)(5x—4y) =9
9(bx—4y) =9

ox —4y =1

Sody—-bx=-1




6. V24— x7}t ALV HEE 5= AAS x 9 Ales?

@ 4N @57H @67 @7 O

24-x=0, 1, 4, 9, 16
ox =24, 23, 20, 15, 8




, V7 —-4,314,0.23, —+0.01, V49

V16

3

® 37 @ 4 7Y ® 5 7Y

@ 2 7

@i

3.14 ($384), 0.23

~V0.01 = -0.1 (
e SR




24 V5 O A5 HESa, A% FES b T U, 20+ b O] FS

® 4+ 5 @ 4-+5 ® 6-+5
@)6 + V5 ® 8+ V5

2<vY5<30]114<2+ V5<50o|BE

2~ "Jd
AT HEa=4

A5 BEL =24 VF-4=5-2
“2a+b=2x4+(V5-2)




® ma+ mb—-m=m(a+b)

@) 6402 + 32ab + 4b* = (8a + 2b)?
® -4a® + 9b* = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x—-2)(x-3)

® 2x% = 5xy + 3y* = (x - 3y)(2x ~y)

B

@ ma+mb-m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x?-5x—6=(x—6)(x+1)
® 2x% - 5xy 4+ 3y? = (2x - 3y)(x - y)




10. 6x2-x-2,4x?-4x-3,2x> +ax-27Fx o tff
A5z 717 W, 0 | S P2

® 9 @ 6 @3  @-3

~&B

6x2 —x—2=(2x+1)(3x-2)

Ax? —Ax -3 = (2x+1)(2x - 3)

35 g 2x+ 1 o[t

2x2 +ax—2=(2x+1)(x-2) =2x2 - 3x -2
L a=-3




11. V2=a, V3=bp 2, V25 a, b5 HA JERHH?

@a3b2 @ a’b? ® a’b @ a’b? ® ab®

2

V= VEXF = (V2) (V3)" = a?p?




6 8

12. - = = 7145] 5HH?
227 \/§_1+\/§ 3V125 7Hs] 5}
@ 2v2-3V3 @ 2V2+3v3
@2«/5—3«/3—3 @ 2vV2+3V3+3
® 2v2+3V3-3

6\/_—6(\/§;+1)+2\/§—6\/§=—3\/§—3+2\/§




13. A xy+bx—ay—ab < A5olotH?

D (r-a)y-b) @-a)6+b) O (x+a)y-b)
@ (x+a)(y+b) ® (x=b)(y-a)




14. a>09 W, A= /(~a2+ (-va)> + Va2 - Va2 & ), VA 9
ares

® -3a @ -2a ® a @\/% ® V3a




VIS+3T VI5-2F 2 554,27 3V2-1F &2 52 pat

S, b-a 9 F& FoHH?

@ 4 @ 2 ® 0 @ -2 @—4

B

@D VI8+3-(Vi5-2)= Vi8+3—- VI5+2>0

VIS +3> V15 -2
@2VT-(3V2-1)=2V7-3V2+1= V28— VI8+1>0
L 2VT>3v2-1

na=VI8+3=3V2+3,b=3V2-1
b—a=3V2-1-(3V2+3)=-40°]|t}.




